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Parallel Lines
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B
C

DA AB = CD=

1st                2nd 1st                    2nd

( 2, 6 )
X1  Y1

( 2, 0 ) ( 6, 6 )
X2    Y2    X2    Y2     X1    Y1

Calculate the slope of 
  segments AB & CD
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AB is parallel to CD

Slope of AB  = Slope of CD, therefore
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90
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What is the slope of the y-axis?

y
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What is the slope of the x-axis?

x
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What is the slope parallel to the x -axis?

x
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y

What is the slope parallel to the y-axis?
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What is the slope perpendicular to the x -axis?

x
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What is the slope perpendicular to the y-axis?

y
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State the slope parallel to y = 5x -3.
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State the slope perpendicular to y =4/5x -3
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State the slope parallel to y =-8x +7
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State the slope perpendicular to y =-2/3x - 4
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State the slope perpendicular to y =-2x + 8
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